


4 3 1 5 7 8 3 1 6 2 9 7 1 2 1 3 5 2 6 8 6 5 4 3 2 1 3 8 7 

How many odd numbers are there which are immediately preceded by 

a perfect square? 

ऐसी कितनी किषम संख्याए ँहैं किनिे ठीि पहले एि परू्ण ि्ण ह ?

1. One 

2. Two 

3. Three 

4. Four 

5. More than four



4 3 1 5 7 8 3 1 6 2 9 7 1 2 1 3 5 2 6 8 6 5 4 3 2 1 3 8 7 

Which of the following number will be seventh to the right 
of tenth number from the left? 

कनम्नकलकित में से िौन-सी संख्या बायें से दसिीं संख्या िे दायें से सातिीं 
हो्ी?

1. 1 

2. 5 

3. 3 

4. 6 

5. 7



4 3 1 5 7 8 3 1 6 2 9 7 1 2 1 3 5 2 6 8 6 5 4 3 2 1 3 8 7 

If all the even numbers are dropped, which number will be ninth to the 
left of fifteenth number from the left? 

यकद सभी सम संख्याओ ंिो हटा कदया िाए, तो िौन सी संख्या बाई ंओर से पंद्रहिीं संख्या 
िे बाई ंओर नौिीं हो्ी?

1. 1

2. 3 

3. 5 

4. 7 

5. 9



4 3 1 5 7 8 3 1 6 2 9 7 1 2 1 3 5 2 6 8 6 5 4 3 2 1 3 8 7

How many odd numbers are there which are immediately 
preceded by perfect cube and followed by perfect square? 

ऐसी कितनी किषम संख्याए ँहैं किनिे ठीि पहले परू्ण घन और बाद में परू्ण ि ण्
ह ?

1. None 

2. One 

3. Two 

4. Three 

5. Four



Three generations of people live together. There are 12 members in the family viz. M, N, 
O, P, Q, R, S, T, U, V, W and X who went out for a picnic. R and Q are kids of T and S. 
V, who is the father in law of W is the paternal uncle of R. T has a son and a daughter. P 
is the husband of O. O is the daughter of Q. M is the brother of N. R is married to U. 
Father of N is U who has only one daughter. S is the father in law of U. W is the wife of 
X. 

लो्ों िी तीन पीक़ियां एि साथ रहती हैं। पररिार में 12 सदस्य हैं अथाणत M, N, O, P, Q, R, S, T, U, V, 
W और X िो कपिकनि िे कलए बाहर ्ए थे। R और Q, T और S िे बच्चे हैं। V, िो W िा ससरु ह , R िा 
चाचा ह । T िा एि बेटा और एि बेटी ह । P, O िा पकत ह । O, Q िी पतु्री ह । M, N िा भाई ह । R िा कििाह 
U से हुआ ह । N िा कपता U ह , किसिी िेिल एि पतु्री ह । S, U िा ससरु ह । W, X िी पत्नी ह ।

Four of the five are alike in a certain way and hence form a group. Which one the 
following doesn’t belong to the group? 

पांच में से चार एि कनकित तरीिे से समान हैं और इसकलए एि समहू बनाते हैं। कनम्नकलकित में से िौन समहू से
संबंकित नहीं ह ?

1. Q 2. P 3. O 4. M 5. N



Three generations of people live together. There are 12 members in the family viz. 

M, N, O, P, Q, R, S, T, U, V, W and X who went out for a picnic. R and Q are kids 

of T and S. V, who is the father in law of W is the paternal uncle of R. T has a son 

and a daughter. P is the husband of O. O is the daughter of Q. M is the brother of N. 

R is married to U. Father of N is U who has only one daughter. S is the father in law 

of U. W is the wife of X. 



How many such pairs of letters are there in the word 

‘PAGINATE’, each of which has as many letters between them 

in the word (both forward and backward direction) as they have 

between them in the English Alphabet? 

शब्द 'PAGINATE' में अक्षरों िे ऐसे कितने यगु्म हैं, किनमें से प्रत्येि िे बीच 

शब्द में (आ्े और पीछे दोनों कदशाओ ंमें) उतने ही अक्षर हैं कितने उनिे बीच 

अंग्रेिी िर्णमाला में हैं?

1. One 2. Two 3. Three 4. Four 5. More than four



1. If only conclusion I follows. 

2. If only conclusion II follows. 

3. If either conclusion I or II follows. 

4. If neither conclusion I nor II follows. 

5. If both conclusions I and II follow.

1. यकद िेिल कनष्िषण I अनसुरर् िरता ह । 

2. यकद िेिल कनष्िषण II अनसुरर् िरता ह । 

3. यकद या तो कनष्िषण I या II अनसुरर् िरता ह । 

4. यकद न तो कनष्िषण I और न ही II अनसुरर् िरता ह । 

5. यकद कनष्िषण I और II दोनों अनसुरर् िरते हैं।



Statements: 

Few N are G. 

All G are T. 

Conclusions: 

I. All N being T is a possibility. 

II. Some T are G. 

िथन: 

िुछ N, G हैं। 

सभी G, T हैं। 

कनष्िषण: 

I. सभी N िे T होने िी संभािना ह ।

II. िुछ T, G हैं।



Statements: 

Few N are G. 

All G are T. 

Conclusions: 

I. All N being T is a possibility. 

II. Some T are G. 



Statements: 

No cap is a stool. 

Few stools are tables. 

Conclusions: 

I. Some tables are not caps. 

II. All caps being tables is a 

possibility.

िथन: 

िोई ि प स्टूल नहीं ह । 

िुछ स्टूल टेबल हैं। 

कनष्िषण: 

I. िुछ टेबल ि प नहीं हैं। 

II. सभी ि प िे टेबल होने िी 

संभािना ह ।



Statements: 

No cap is a stool. 

Few stools are tables. 

Conclusions: 

I. Some tables are not caps. 

II. All caps being tables is a 

possibility.



Statements :

Only a few watches are electric 

No watches are ring 

Conclusions :

I. Some electric are ring

II. Some electric can never 

be ring.

िथन: 

िेिल िुछ घक़ियाँ इलेकरिि हैं

िोई घक़ियाँ ररं् नहीं हैं 

कनष्िषण: 

I. िुछ इलेकरिि ररं् हैं 

II. िुछ इलेकरिि िभी ररं् नहीं हो

सिते।



Statements :

Only a few watches are electric 

No watches are ring 

Conclusions :

I. Some electric are ring

II. Some electric can never 

be ring.



Statements: 

Only a few Hairs are White 

Only a few White are Sky 

Conclusions: 

I. All Hair are Sky 

II. Some Hairs are not Sky.

िथन: 

िेिल िुछ बाल सफेद हैं 

िेिल िुछ व्हाइट स्िाई हैं

कनष्िषण: 

I. सभी हयेर स्िाई हैं

II. िुछ हयेर स्िाई नहीं हैं.



Statements: 

Only a few Hairs are White 

Only a few White are Sky 

Conclusions: 

I. All Hair are Sky 

II. Some Hairs are not Sky.



Statements: 

All black are green. 

Only a few greens are good. 

Some good are bad. 

Conclusions: 

I. No black is good. 

II. No green is bad.

िथन: 

सभी ब्ल ि ग्रीन हैं. 

िेिल िुछ सा् अच्छे हैं। 

िुछ अच्छे बरेु हैं। 

कनष्िषण: 

िोई िाला अच्छा नहीं ह ।

िोई ग्रीन ब ड नहीं ह .



Statements: 

All black are green. 

Only a few greens are good. 

Some good are bad. 

Conclusions: 

I. No black is good. 

II. No green is bad.



1. If only conclusion I follows. 

2. If only conclusion II follows. 

3. If either conclusion I or II follows. 

4. If neither conclusion I nor II follows. 

5. If both conclusions I and II follow.

1. यकद िेिल कनष्िषण I अनसुरर् िरता ह । 

2. यकद िेिल कनष्िषण II अनसुरर् िरता ह । 

3. यकद या तो कनष्िषण I या II अनसुरर् िरता ह । 

4. यकद न तो कनष्िषण I और न ही II अनसुरर् िरता ह । 

5. यकद कनष्िषण I और II दोनों अनसुरर् िरते हैं।



Statements: 

G < I ≥ H = J, I < U = P 

Conclusions: 

I. G > P 

II. P > J



Statements: 

K ≤ L = M < D ≤ T ≥ R > W = Q 

Conclusions:

I. D > W 

II. M < R 



Statement: 

M > N < O ≤ P; S ≥ R > Q = P 

Conclusion: 

I. S ≥M 

II. S < M



Statement: 

R ≥ T = Q < M; S ≥ R 

Conclusions: 

I. M < R 

II. S ≥ Q



A certain number of people are sitting in a row facing towards the north. X 
is sitting second from the right end of the row. Five persons are sitting 
between X and P. C is sitting immediate right of P. E is sitting third to the 
right of C. Seven persons are sitting to the left of E. A is sitting on one of 
the extreme ends but not sitting immediately right of X. T is sitting eighth 
to the right of A and immediately left of X. Y is sitting second to the right 
of T. Four persons are sitting between Y and R.

एि कनकित संख्या में व्यकि उत्तर िी ओर मिु िरिे एि पंकि में ब ठे हैं। X पंकि िे 
दायें छोर से दसूरे स्थान पर ब ठा ह । X और P िे बीच पांच व्यकि ब ठे हैं। C, P िे
ठीि दायें ब ठा ह । E, C िे दायें से तीसरे स्थान पर ब ठा ह । E िे बायीं ओर सात 
व्यकि ब ठे हैं। A किसी एि अंकतम छोर पर ब ठा ह  लेकिन X िे तरंुत दायें नहीं ब ठा 
ह । T, A िे दायें से आठिें और X िे ठीि बायें ब ठा ह । Y, T िे दायें से दसूरे स्थान 
पर ब ठा ह । Y और R िे बीच चार व्यकि ब ठे हैं। 



A certain number of people are sitting in a row facing towards the north. X 
is sitting second from the right end of the row. Five persons are sitting 
between X and P. C is sitting immediate right of P. E is sitting third to the 
right of C. Seven persons are sitting to the left of E. A is sitting on one of 
the extreme ends but not sitting immediately right of X. T is sitting eighth 
to the right of A and immediately left of X. Y is sitting second to the right 
of T. Four persons are sitting between Y and R.



There are seven persons - A, B, C, D, E, F and G. They are going 

market to purchase some items. Only Three persons reach before 

D. E reach before F and G but F is not the last person. G reached 

before F. A reach before C but after D. C is not the last person.

सात व्यकि हैं - A, B, C, D, E, F और G । िे िुछ िस्तओु ंिो िरीदने िे 

कलए बािार िा रह ेहैं। िेिल तीन व्यकि D से पहले पहुचंते हैं। E, F और G से 

पहले पहुचंता ह  लेकिन F अंकतम व्यकि नहीं ह । G, F से पहले पहुचंा। A, C से 

पहले पहुचंता ह  लेकिन D िे बाद। C अंकतम व्यकि नहीं ह ।



There are seven persons - A, B, C, D, E, F and G. They are going 

market to purchase some items. Only Three persons reach before 

D. E reach before F and G but F is not the last person. G reached 

before F. A reach before C but after D. C is not the last person.



There are 10 members in the family who are sitting at some distance from 

each other in a park. N is 4 m in the west of M, who is 5 m in the north of O. 

Q is 12 m in the west of R. T is 3 m in the west of S, which is 12 m in the 

south of R. O is 6 m in the east of V, which is 2 m in the north of P, which is 

8 m in the west of U. T is 1 m in the south of U. 

पररिार में 10 सदस्य हैं िो एि पािण  में एि दसूरे से िुछ दरूी पर ब ठे हैं। N, M िे पकिम में 4 मीटर

ह , िो O िे उत्तर में 5 मीटर ह । Q, R िे पकिम में 12 मीटर ह । T, S िे पकिम में 3 मीटर ह , िो R िे

दकक्षर् में 12 मीटर ह । O, V िे पिूण में 6 मीटर ह , िो P िे उत्तर में 2 मीटर ह , िो U िे पकिम में 8 

मीटर ह । T, U िे दकक्षर् में 1 मीटर ह ।

In which direction is U with respect to M? /M िे सन्दभण में U किस कदशा में ह ?

1. North 2. East 3. South-East 4. North-West 5. None of these



There are 10 members in the family who are sitting at some distance from each 

other in a park. N is 4 m in the west of M, who is 5 m in the north of O. Q is 12 m 

in the west of R. T is 3 m in the west of S, which is 12 m in the south of R. O is 6 

m in the east of V, which is 2 m in the north of P, which is 8 m in the west of U. 

T is 1 m in the south of U. 



Seven persons are working in the same 

company on different designations. The person 

working on that designation is named P, Q, R, 

S, T, U, and V but not necessarily in the same 

order. They have different designations starting 

from the clerk, officer, Assistant Manager, 

manager, Assistant General manager, General 

manager, and Director. Director is the topmost 

post of the company and the clerk is the 

lowermost post of the company. Only four 

persons sit between P and Q. P is not working 

at a position of officer nor as a clerk. There are 

two designations between R and S. R is senior 

to S. R is a General manager or Director. More 

than two designations are there between T and 

U. U is working as a designation of clerk in the 

company.

सात व्यकि एि ही िंपनी में किकभन्न पदनामों पर िाम 

िर रह ेहैं। उस पद पर िाम िरने िाले व्यकि िा नाम P, 

Q, R, S, T, U और V ह  लेकिन िरूरी नहीं कि इसी 

क्रम में हो। उनिे पास रलिण , अकििारी, सहायि 

प्रबंिि, प्रबंिि, सहायि महाप्रबंिि, महाप्रबंिि और 

कनदशेि से शरुू होने िाले अल्-अल् पद हैं। कनदशेि 

िंपनी िा सिोच्च पद होता ह  और रलिण  िंपनी िा 

सबसे कनचला पद होता ह । P और Q िे बीच िेिल चार 

व्यकि ब ठे हैं। P न तो अकििारी िे पद पर और न ही 

रलिण  िे रूप में िायण िर रहा ह । R और S िे बीच दो 

पद हैं। R, S से िररष्ठ ह । R एि महाप्रबंिि या कनदशेि 

ह । T और U िे बीच दो से अकिि पद हैं। U िंपनी में 

रलिण  िे पद पर िायणरत ह ।



Seven persons are working in the same 

company on different designations. The person 

working on that designation is named P, Q, R, 

S, T, U, and V but not necessarily in the same 

order. They have different designations starting 

from the clerk, officer, Assistant Manager, 

manager, Assistant General manager, General 

manager, and Director. Director is the topmost 

post of the company and the clerk is the 

lowermost post of the company. Only four 

persons sit between P and Q. P is not working 

at a position of officer nor as a clerk. There are 

two designations between R and S. R is senior 

to S. R is a General manager or Director. More 

than two designations are there between T and 

U. U is working as a designation of clerk in the 

company.



Eight persons lives in a building having four 

floors where ground floor is numbered as 1, the 

floor just above it is numbered as 2 and so on 

till the topmost floor which is numbered as 4. 

Each floor is having two flats i.e., Flat-A and 

flat-B. Flat-A of floor-2 is exactly above the 

flat-A of floor-1 and exactly below the flat-A of 

floor-3 and so on. Flat-B is in east of flat-A.

No one lives below P. Only two floors gap is 

there between P and J. P and J lives on different 

flats. M lives exactly towards the east of N. R 

lives immediately below N. R and N lives on 

same flat. D lives above O and below K. K lives 

on flat-A.

आठ व्यकि चार मंकिलों िाली एि इमारत में रहते हैं िहाँ 

सबसे कनचली मंकिल िी संख्या 1 ह , उसिे ठीि ऊपर िाली 

मंकिल िी संख्या 2 ह  और इसी क्रम में आ्े ब़िते हुए सबसे 

कनचली मंकिल िी संख्या 4 ह । प्रत्येि मंकिल में दो फ़्ल ट, 

अथाणत फ़्ल ट-A और फ्ल ट-B हैं। मंकिल-2 िा फ्ल ट-A, 

मंकिल-1 िे फ्ल ट-A िे ठीि ऊपर ह  और मंकिल-3 िे 

फ्ल ट-A िे ठेि नीचे ह । फ्ल ट-B, फ्ल ट-A िे पिूण में ह ।

P से नीचे िोई नहीं रहता ह । P और J िे बीच में िेिल दो 

मंकिलों िा अतंर ह । P और J अल्-अल् फ्ल टों पर रहता 

ह । M, N िे ठीि पिूण में रहता ह । R, N िे ठीि नीचे रहता 

ह । R और N एि ही फ्ल ट में रहते ह । D, O से ऊपर और K 

से नीचे रहता ह । K फ्ल ट-A में रहता ह ।



Eight persons lives in a building having four 

floors where ground floor is numbered as 1, the 

floor just above it is numbered as 2 and so on 

till the topmost floor which is numbered as 4. 

Each floor is having two flats i.e., Flat-A and 

flat-B. Flat-A of floor-2 is exactly above the 

flat-A of floor-1 and exactly below the flat-A of 

floor-3 and so on. Flat-B is in east of flat-A.

No one lives below P. Only two floors gap is 

there between P and J. P and J lives on different 

flats. M lives exactly towards the east of N. R 

lives immediately below N. R and N lives on 

same flat. D lives above O and below K. K lives 

on flat-A.



If it’s possible to make a meaningful word from 1st, 2 , 7 , and 8 

letters of the word 'ARCHITECT', then which will be the first 

letter of the word? Mark ‘X’ if no such word can be formed, ‘M’ 

if more than 1 such word can be formed. 

यकद शब्द 'ARCHITECT' िे 1, 2, 7, और 8 अक्षरों से एि अथणपरू्ण शब्द 

बनाना संभि ह , तो शब्द िा पहला अक्षर िौन सा हो्ा? यकद ऐसा िोई शब्द 

नहीं बनाया िा सिता ह  तो 'X' कचकित िरें, यकद 1 स ेअकिि ऐसे शब्द बन 

सिते हैं तो 'M'।

1. R 2. A 3. C 4. E 5. M


